Table 8. The effect of cigarette smoking and heavy coffee consumption on olanzapine safety (assessed as the change in BMI, Glc and TC levels), according to CYP1A2*1F and CYP1A1/1A2 genotype
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	BMI (kg/m2)
	Glc (mmol/L)
	TC ( mmol/L)

	Cigarette smoking
	n*
	Median (IQR)*
	Mann-Whitney test
	Median (IQR)*
	Mann-Whitney test
	Median (IQR)*
	Mann-Whitney test

	All
	61/59
	0.39 (0.10, 0.93) /
1.20 (0.57, 1.67)
	U=928.50, 
p<0.001, r=0.417
	-0.20 (-0.55, -0.30) /
0.00 (-0.40, 0.40)
	U=1531.50, 
p=0.16, r=0.127
	0.70 (-0.19, 1.50) /
1.40 (0.90, 1.90)
	U=1157.00, 
p=0.001, r=0.308

	CYP1A2*1F
(-163C>A)
	Dominant genetic model
	C/C
	8/5
	0.22 (0.08, 0.98) /
1.10 (0.79, 1.97)
	U=8.00, 
p=0.09, r=0.487
	-0.25 (-0.75, 0.38) /
0.00 (-0.45, 0.85)
	U=12.00, 
p=0.28, r=0.324
	0.60 (-0.11, 1.95) /
1.10 (0.50 ,2.15)
	U=12.50, 
p=0.28, r=0.305

	
	
	C/A + A/A
	53/54
	0.40 (0.10, 0.93) /
1.21 (0.55, 1.61)
	U=773.50, 
p<0.001, r=0.396
	-0.20 (-0.50, 0.30) /
0.05 (-0.43, 0.40)
	U=1241.50, 
p=0.24, r=0.114
	0.70 (-0.19, 1.45) /
1.40 (0.88, 1.90)
	U=899.50, 
p=0.001, r=0.319

	
	Recessive genetic model
	C/C + C/A
	36/33
	0.39 (0.13, 1.01) /
1.31 (0.64, 1.83)
	U=282.00, 
p<0.001, r=0.259
	-0.15 (-0.48, 0.38) /
0.10 (-0.35, 0.55)
	U=488.50, 
p=0.20, r=0.152
	0.60 (0.04, 1.63) /
1.40 (1.10, 0.71)
	U=360.00, 
p=0.005, r=0.339

	
	
	A/A
	25/26
	0.39 (0.02, 0.93) /
0.81 (0.47, 1.41)
	U=191.00, 
p=0.012, r=0.354
	-0.20 (-0.65, 0.30) /
0.00 (-0.65, 0.40)
	U=287.50, 
p=0.48, r=0.100
	0.70 (-0.38, 1.50) /
1.25 (0.43, 2.53)
	U=216.00, 
p=0.040, r=0.288

	CYP1A1/1A2 (74735539C>T)
	Dominant genetic model
	C/C
	42/44
	0.39 (0.11, 0.89) /
1.25 (0.57 ,1.78)
	U=497.00, 
p<0.001, r=0.398
	-0.20 (-0.60 ,0.33) /
0.00 (-0.38, 0.40)
	U=763.50, 
p=0.17, r=0.148
	0.70 (-0.03, 1.63) /
1.50 (1.10, 2.08)
	U=573.50, 
p=0.002, r=0.327

	
	
	C/T + T/T
	19/15
	0.42 (0.07, 0.97) /
0.91 (0.57, 1.60)
	U=75.00, 
p=0.019, r=0.401
	-0.10( -0.40 ,0.30) /
0.30( -0.80 ,0.50)
	U=126.50, 
p=0.58, r=0.095
	0.30 (-0.35, 1.40) /
1.10 (0.50, 1.70)
	U=103.00, 
p=0.18, r=0.235

	
	Recessive genetic model
	C/C + C/T
	58/59
	0.39 (0.11, 0.91) /
1.20 (0.57, 1.66)
	U=865.50, 
p<0.001, r=0.376
	-0.15 (-0.53, 0.30) /
0.00 (-0.40, 0.40)
	U=1468.50, 
p=0.19, r=0.123
	0.70 (-0.18, 1.50) /
1.40 (0.90, 1.90)
	U=1088.00, 
p=0.001, r=0.315

	
	
	T/T
	3/0
	0.57 (0.00, 0.57) / NA
	NA
	-0.40 (-0.60, -0.40) /
NA
	NA
	0.30 (-0.20, 0.30) /
NA
	NA

	Heavy coffee consumption
	n †
	Median (IQR) †
	Mann-Whitney test
	Median (IQR) †
	Mann-Whitney test
	Median (IQR) †
	Mann-Whitney test

	All
	59/61
	0.40 (0.11, 0.83) /
1.20 (0.59, 1.71)
	U=877.50, 
p<0.001, r=0.442
	0.00 (-0.40, 0.40) /
-0.10 (-0.60, 0.45)
	U=1746.50, 
p=0.78, r=0.032
	0.80 (0.16, 1.20) /
1.50 (0.25, 2.10)
	U=1232.00, 
p=0.003, r=0.272

	CYP1A2*1F
(-163C>A)
	Dominant genetic model
	C/C
	7/6
	0.68 (0.07, 1.10) /
0.80 (0.21, 1.93)
	U=16.00, 
p=0.53, r=0.198
	-0.30 (-0.60, 0.50) /
0.00 (-0.55, 0.65)
	U=16.50, 
p=0.53, r=0.179
	1.10 (0.40, 2.00) /
0.85 (-0.43, 2.13)
	U=18.50, 
p=0.73, r=0.100

	
	
	 C/A + A/A
	52/55
	0.40 (0.11, 0.75) /
1.23 (0.63, 1.70)
	U=639.00, 
p<0.001, r=0.476
	0.00 (-0.40, 0.40) /
-0.20 (-0.60, 0.40)
	U=1351.00, 
p=0.62, r=0.045
	0.70 (0.00, 1.18) /
1.50 (0.50, 2.10)
	U=906.00, 
p=0.001, r=0.316

	
	Recessive genetic model
	C/C + C/A
	36/33
	0.48 (0.12, 1.13) /
1.20 (0.54, 1.87)
	U=313.00, 
p=0.001, r=0.406
	-0.05 (-0.78, 0.40) /
0.00 (-0.40, 0.50)
	U=549.00, 
p=0.59, r=0.195
	0.95 (0.33, 1.38) /
1.50 (0.75, 1.85)
	U=430.00, 
p=0.049, r=0.237

	
	
	A/A
	23/28
	0.30 (0.01, 0.57) /
1.10 (0.59, 1.43)
	U=120.00, 
p<0.001, r=0.536
	0.00 (-0.40, 0.30) /
-0.25 (-0.88, 0.38)
	U=272.00, 
p=0.34, r=0.134
	0.70 (-0.40, 1.10) /
1.55 (0.13, 2.45)
	U=195.00, 
p=0.016, r=0.336

	CYP1A1/1A2 (74735539C>T)
	Dominant genetic model
	C/C
	40/46
	0.40 (0.11, 1.05) /
1.19 (0.43, 1.84)
	U=509.00, 
p<0.001, r=0.383
	-0.15 (-0.48, 0.30) /
0.00 (-0.50, 0.50)
	U=861.00, 
p=0.61, r=0.055
	0.85 (0.33, 1.28) /
1.60 (0.43, 2.23)
	U=616.00, 
p=0.008, r=0.285

	
	
	C/T + T/T
	19/15
	0.42 (0.07, 0.65) /
1.20 (0.89, 1.66)
	U=40.00, 
p<0.001, r=0.610
	0.00 (-0.40, 0.40) /
-0.30 (-0.80, 0.30)
	U=107.00, 
p=0.23, r=0.212
	0.70 (-0.35, 1.10) /
1.10 (0.10, 1.70)
	U=103.50, 
p=0.18, r=0.232

	
	Recessive genetic model
	C/C + C/T
	58/59
	0.41 (0.12, 0.84) /
1.20 (0.61, 1.70)
	U=825.50, 
p<0.001, r=0.446
	-0.05 -0.40( 0.40,) /
0.00 (-0.60, 0.50)
	U=1701.00, 
p=0.96, r=0.000
	0.75 (0.12, 1.13) /
1.60 (0.50, 2.10)
	U=1084.50, 
p=0.001, r=0.316

	
	
	T/T
	1/2
	0.00 (0.00, 0.00) /
1.14  0.57( 1.14,)
	U=0.00, 
p=0.67, r=0.707
	0.30 (0.30, 0.30) /
-0.50 (-0.60, -0.50)
	U=0.00, 
p=0.67, r=0.707
	3.96 (3.96, 3.96) /
0.05 (-0.20, 0.05)
	U=0.00, 
p=0.67, r=0.707


BMI – body mass index change, Glc - fasting serum glucose level change, TC - total cholesterol level change
* - smokers/non-smokers,  † - heavy coffee consumers/ coffee non-consumers, NA-not applicable

